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PART A: Grammar R

Directions: Questions 41-45 are incomplete sentences. Beneath each sentence you
will see four words or phrases, marked (1), (2), (3), and (4). Choose the one word

- or phrase that best completes the sentence. Then mark the correct choice on your

answer sheet.

Displacement occurs when new information
existing material.

1) enters 2) entering 3) is entered 4) being entered
Although the surface of a block of polished steel may seem , when we examine it
through a microscope we see that it is covered with tiny hills and valleys.
1) flatly perfect 2) perfect flatly 3) perfectly flat 4) flat perfectly

Engineers try. friction as much as possible by good design. They can also use
materials with a low coefficient friction.

1) reducing 2) to reduce
3) so that they can reduce 4) so as they may reduce

‘When we use a force to make one block of steel move over another, we must first break those
tiny welds before the blocks

short-term memory and pushes out

.

1) move 2) will move 3) had moved 4) have moved.

To start a surface moving over another surface requires a force ——--— requh'ed to keep the
surfaces in motion.

1) greater than that 2) more than that 3) greater than what.. ~ 4) more than what
PART B: Vocabulary

Directions: Questions 46-50 contain underlined words. Beneath each sentence you

will see four words, marked (1), (2),(3), and (4). Choose the one word that best
replaces the underlined word. Then mark the correct choice on your answer sheet.

A revolution jnfwomen’s fashion during the second half of the 20™ century made trousers
permissible for almost all activists.

1)ideal 2) available 3) attractive 4) acceptable

Advanced scientific disciplines like solar cell technology and genetic engineering are exploding
with possibilities.

1) New 2) Valued 3) Celebrated 4) Appealing

With the advent of cable television and the use of satellites for broad casting, television
reception improved.

1) arrival 2) refinement 3) distribution 4) advantage
She had led a sheltered life since her parents have done everything for her.
1) passable 2) plentiful 3) protected 4) phenomenal

The poll indicated that conservation of the environment was the number one issue with
college students.

1) account 2) survey 3) convention 4) illustration
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PART C: Reading comprehension .
Directions:
follc_vwed by a number of questions. Answer the questions
nt:)‘zat‘.-me| (1), (2), (3), or (4). Then mark the correct c
Passage 1:

In this part of the test, you will read two-passages.

Each passage is
by choosing the best

hoice on your answer sheet.

_ Ehgincering, term applied to the profession in ‘which a
knowledge of mathematical and natural sciences, gained by study,
 :experience, and practice, is applied to the efficient use of the materials
 |and forces of nature. The term engineer properly denotes a person who
'has received professional training in pure and applied science, but it is
often loosely used to describe the operator of an engine, as in the terms
locomotive engineer, or-marine engineer. In modern terminology these
latter occupations are known as crafis or trades. Between the
 professional engineering and the craftsperson or tradesperson, however,
‘are those individuals known as subprofessionals or. paraprofessionals,

-who apply scientific and engineering skills to technical problems;

typical

of these are engineering aides, technicidns, inspectors, draftsmen, and

the likq.

Before the middle of the 18" century, large-scale
construction work was usually placed in the hands of military engineers.
'Military engineering involved such work as the preparation’ of
‘topographical maps,-the location, design, and constriction of roads and
‘bridges; and the building of forts and .docks, Yo the 18" century,
however, the term civil engmemng tcame into use to describe
.engineering work that was~performed by civilians for nonmilitary
purposes. With -the in¢reasing use of machinery in the 19% century,
' mechanical - engineering~ was recognized as a separate branch of
engineering, and later mining engineering was similarly recognized.

Acco_rding to the passage, engineering ——-—- to effectively employ the materials and forces

of nature.

1) applirlts only natural sciences

2) uses only mathematical sciences

3) uses both mathematical and natural sciences

4) applies neither mathematical nor natural sciences

It is a quite ——— to describe the operator of an engine, as in the terms ‘locomotive

engineer’ or ‘marine engineer’.

1)fim 2) tight 3) insecure

Subprofessionals or paraprofessionals are . _
1) not engineering aides, technicians, inspectors, draftsmen, and the like

4) imprecise

2) individuals who apply mathematical sciences to the efficient use of nature

3) not regarded between the professional engineering and the craftsperson

4) people who employ scientific and engineering techniques to solve technical problems

Which statement in NOT true about military engineering?

1) It involved the building of forts and buildings.

2) It involved the preparation of topographical maps.

Dt con!cemed the work performed by civilians for military purposes.

4) It concerned the location, design, and construction of roads and bridges.
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55~ In the 19th century mac]nnerary was increasingly employed, which '
1) made civil engineering came into use
2) placed large-scale construction work in the hands of military engineers
3) made mechanical engineering known as an independent branch of engineering
4) placed engineering work in the hands of civilians for military purposes
Passage 2: |

Police have recently installed speed trap units on many busy
roads. These contain a radar set , a microprocessor , and a cainera
equipped with a flash. The radar sends out a beam of radio waves at a
frequency of 24 gigahertz. This is equivalent to a wavelength of 1.25
cms. If a car is moving towards the radar , the reflected signal will
bounce back with 2 slightly smaller wavelength. If away from the radar,
the waves will bounce-back with a sii‘gl:;tly longer wavelength. The
microprocessor within the unit measures the difference in wavelength
between outgoing and returning signals and calculates the speed of each
‘vehicle. If it is above the speed pre-set by police, the camera takes a
picture ‘of the vehicle. The information is stored on a smart card for
transfer to the police computer. The owner of the vehicle can then be
traced using the Driver and Vehicle Licensing Center database.

Some drivers have now got used to these traps.They slow
down when they approach one to ensure that the camera is not triggered.
They speed up .again as soon as they have passed. This is known as
surfing. One way of outwitting such motorists'is\a new computerized
system. This consists of two units equipped with digital cameras
positioned at a measured distance apart. The first unit records the time
each vehicle passes. it and identifies each vehicle by its number plates
using optical character recognition software.

56- What does the passage mainly discuss?

1) Radio Waves 2) Speed Traps
3) Priver and Vehicle Licensing 4) Optical Character Recongnition
57- What does ‘these’ in the 2™ line refer to?
1) police . 2)speed trap units
3) many busy roads 4) a radar set, a microprocessor, and a camera
58- According to the passage, the microprocessor signals, and calculates the speed of each
vehicle.

1) involves the variation between outgoing and leaving

2) concemns the distinction between departing and leaving

3) processes the wavelength present between outgoing and returning-

4) computes the difference in wavelength between departing and returing

59- Some drivers have now got accustomed to the traps. They reduce speed when they e
that the camera is not triggered.

1) apply to one to ensure 2) resemble a trap to ensure

3) compare with a trap to make sure 4) come near to one to make sure
60- The author finally wants to state that '

1) surfing can be stopped

2) it is not possible for the police to overcome drivers
» 3) the new system can hardly detect the outwitting motorists
4) the camera is not triggered, because drivers can use a new computerized system
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Reading Compréhension

Directions: Read the following passage and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer
sheet. -

An operating system (OS) is software that manages computer resources and
provides programmers/users with an interface used to access those resources. An
operating system processes system data and user input, and responds by allocating
and managing tasks and internal system resources as a service to users and
programs of the system. An operating system performs basic tasks such as
controlling and allocating memory, prioritizing system requests, controlling input
and output devices, facilitating computer networking and managing files.
Operating systems can be found on almost anything made with integrated circuits,
such as personal computers, internet servers, cellphones, music players, routers,

switches, wireless access points, network storage, game consoles, digital cameras,
sewing machines and telescopes.

In most cases, the operating system is not the first code to run on the computer at
startup (boot) time. The initial code executing on the computer is usually loaded »
from firmware, which is stored in Flash ROM. This is sometimes called the BIOS -

or boot ROM. The firmware loads and executes the operating system kemel
(usually from disk, sometimes over the network), and is usually responsible for

the first graphics or text output the user sees on screen.

Common contemporary desktop OSes are Linux, Mac 0S:X, Microsoft Windows

and Solaris. Windows is most popular on desktops while Linux is most popular in
server environments. Linux, Mac OS X and-MS8 Windows all have server and’
personal variants. With the exception of Microsoft Windows, the designs of each

of the aforementioned OSs were.inspired by, or directly inherited from, the Unix
operating system. Unix was developed at Bell Labs beginning in the late 1960s ,
and spawned the development of numerous free and proprietary operatingsystems.

What does the passage mainly discuss?

1) Operating Systems 2) BIOS or Boot ROM
3) Unix Qperating System 4) Common Contemporary Desktop OSes
According to the passage, an operating system ——————-—o- '

1) is software which uses computer resources so that programmers can control them

2) supplies users with an interface to make use of computer resources and controls them

3) is software which does not control computer resources, but provides users with a useful interface
4) provides programmers with a circuit or connection that joins one device or system to another
What does “allocating” in line 3 refer to?

1) altering 2) allowing 3) attracting 4) assigning
Which of the following statements is NOT among the primary tasks of an OS?
1) managing memory._

2) providing internal system resources

3) easing networking and arranging files

4) putting system requirements in order of importance

According to the passage, there exist OSes 0n ——-s-wux circuits.

1) anything built with combined 2) nearly everything made with harmonized
3) exactly anything created by connected 4) everything manufactured by incorporated
The operating system —-----—— to run on the computer at boot time.

1) is not often the first system 2) is generally the first system

3) is not always the initial code 4) is always the initial code
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B Whleh statement is NOT true about the BIOS?
. I) It is the first system running on the computer.

2) It loads and executes the basic operating system,

'3) It is the initial code executing on the computer, which is stored in a cool d:sk.

4) It often provides the first graphics or text output the user sees on screen.
The firmware loads and executes the operahng system —
1) only from a hard disk

2) merely over the network

3) eithlcr from a disk or over the network

4) both from a disk and over the network simultaneously
What does ‘contemporary’ in the last paragraph refer to? ;

1) general 2) popular 3) out-of-data 4) current

The author finally states that —————- were inspired by Unix, which caused to develop many
operating systems.

‘1) only Linux and server erivironments

2) only Mac and server operating systems - -
3) all operating systems but Microsoft Windows
4yall ?pemﬁng systems including Microsoft Windows
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CIm>>a,b;  cout<<a<<h; ;%% ’ 3¢

CI>>a>>h; cout<<a,b; //3
}C’lf‘”‘a.b: cout<<a,b; //4 . 15244

vgiq maih().

int SCud 105 (955 ¢y 41 95 Gaaliyg j3  —VoY
a=4 ,b=3; cout<<a¥b: : :
a=-4;b=3; cout:-:a?a),: 1-11-1 @
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48721 ¢

void ma{n()

S0 x|y (Bl y0 saaby (e 1S gy @ 9) aslizg 0 ~1oF
{ char s[10]; int i=0; Y :

cin>>s; , . AT 7 10
while(s[i++1) cout<<s[il; 719 2
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++Sptr; //2
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